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1. Perform each of the following conversions: (BH & FEE {7881 7 (E?)
(1) 100 mi/bhr= _ ?  km/min (1mi=1760yd > 1yd =3 ft > 1ft =30.48 cm)

@2 —40C=_2? K=_2?2 °F
(3) 250 torr(mmHg)= _ ? atm=_2? Pa (N/m? (10%)

2. A copper wire (density = 8.96 g/(cm)3) has a diameter of 0.25 mm. If a sample of this copper wire has a mass of 23g,
how long is this wire?((EE%SARYZEEES 8.96 g/(cm)® > FTE 23 TTHIFTSEAI SR 0.25mm(EK) EENE L CufRERY)
(10%)
3. Give the English and Chinese names of the following terms separately : (BH FFI&H 2 F3CEENHLTE
MSn @Pt B)YKOH @) NaH (5)CaSO0s (10%)

4. PiTERSHRSREETE 67C THOTRA— 10.5 L @FHNEEEERHAR S CHa(e) HISES 0.175 atm. H Oz(g)
HISEERS 0.250 atm. - BFTERESFSEBREEE 558 ¢
() FRESSHEESRESD?
(2) EFEM 1 KEWEARN)EA L EERERN » RABNERER 67CHRR STCAILRERNSERZD atm.? (10%)

5. {BEERRIE A — P 5P FE(a first order reaction) - YEFEAS 320 M ERISIELR - H 45.0 mol% By A R EHBERK P -
(1) SHELRIEE—ERAS (the first halflife) tue B 5/0534?
2) TEREEL EIRER, 90.0 mol% £ A TR IERBR P? (10%)

6. — (LR B EARAE T FERYALN T *
2CIF3(g) + 2NHj3 (g) — Na(g) + 6HF(g) + Clz (g) AH° = —1196 kJ
40 HF 82 NHs FEREE REVES IS © AHtrr = — 271 kJ/mole; AHgNms = — 46 kd/mole
HETE ClFs@@IRELEREE AHt 524 kd/mole?) (10%)

7. Consider the following reaction : (Zf#E+&E—_&.Z%5%) C2Ha(g) + Fa(g) — C2H4aF2(g) AH= —549kJ
The data of bond energy GERE) are : Eg(C—C) =347 kJ/mol, Eg(C=C) = 614 kJ/mol, EgF —F) = 154 kd/mol.
Calculate the carbon-fluorine (C—F) bond energy Es(C—F) = ? G& C—F #ErVERER %4 kJ/mol?) (10%)

8. B TIIESTEREET L (2) Lewis #E,82 (b)3(MAR?
1) COz (@ ICls (3)CIFs (4) AsF4+ (5) PClst _ (10%)

9. () EWERIEEF - {RIEE=4E%25(triple point) - FE5R Bk (critical point)EZEE IR (critical temperature)?
(2) EH H20 B2 CO2 Z HHEIZREREAS A " 7E H20 FridaiiYuk EXEVKTAREETE CO:z FrisBAvsZuK _E¥Euk?
(3) ZEFR (vapor) ~ ZIR (steam) R (gas) =FFANE? REBHERIAL - (10%)

10. The electrolyte in automobile lead storage batteries is a 3.75 M H2SO4(aq) that has a density of 1.230g/ml.
Calculate (1) N (normality), (2) m (molality) , (8) wt% (weight percent) of H2SO4 in this electrolyte?
(FERERSRE B TR EARRARERIREES 8.75 M - EFRZER 1.230g/ml » HeSO443F& = 98 g/mole » KE
R REREIRER S (D) N (EEEEERE) =? (2) n EEEHEE) =? 3) wt% (EEHHH) =) (10%)




